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Note : Answer questions from all sections as per instructions. 

SECTION - A 

Attempt any two questions from this section in 
about 500 words each. 	 2x20=40 

1. Define price elasticity of demand. How is the 
price elasticity coefficient calculated ? Prove that 
on a straight line sloping downwards, demand 
curve, elasticity of demand will be unity at the 
middle point of the curve. 	 4+4+12=20 

2. With the help of indifference curves show the 
effect on consumers equilibrium when the price 
of only one commodity changes. Decompose the 
effect into income effect and substitution effect. 

10+5+5=20 

3. Why do nations trade ? In this context evaluate 
theory of comparative cost advantage. 	8+12=20 

4. Explain the components of balance of payments. 
In this context explain the concept and 
significance of foreign exchange reserves. 	8+12=20 

EEC-11 	 1 	 P.T.O. 



SECTION - B 

Answer any three questions from this section in 
about 250 words each. 	 3x10=30 

5. State the factors that affect demand for money as 
stated by J.M.Keynes. Explain their role in the 
determination of rate of interest. 	 4+6=10 

6. Explain briefly the 'Law of Variable Proportions.' 	10 
Use a schedule and graph. 

7. What is Consumer's Surplus ? How is it measured ? 
Explain with the help of a diagram. 	3+7=10 

8. The following is the cost data of a firm for different 10 
levels of output : 

Output (Units) 0 1 2 3 4 5 

Total Cost (Rs.) 30 50 66 72 94 130 

Calculate Average variable cost (AVC), Average 
fixed cost (AFC), Average total cost (ATC), and 
Marginal cost (MC). 

9. Define the concept of investment. Also state the 
factors that determine investment in an economy. 

3+7=10 
SECTION - C 

Answer all questions in this section as indicated. 
2x15=30 

10. Explain any three of the following concepts : 
(a) Water Diamond Paradox 	 3x5=15 

(b) Iso- Cost Curve 
(c) Circular Flow of Income 
(d) Effective demand 
(e) IS and LM Curve 
(f) Oligopoly 
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11. Distinguish between any three of the following : 
(a) Micro Economics and Macro Economics 3x5=15  
(b) Fixed Proportions and Variable Proportions 

of factor inputs 
(c) Actual GDP and Potential GDP 
(d) Inferior Goods and Giffen Goods 
(e) Recessionary gap and Inflationary gap 
(f) Simple Monopoly and Discriminating 

Monopoly. 
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